
2 .  AUB LYilT%J

I) II, 3, 5, 7, 9i 2) 11, 2, 3, 4, 5, 7, 8j

3) II, 2, 3, 4. 5, 7, 91 4) 11, 2, 3, 4, 5, 6, 7, 8, 91

hwnJ thl &I 4)

RW~EKI  A U B  &I  Pi&JtW~h$u  A  F&I E

&I&  AUB = 11,  2, 3, 4, 5, 6, 7, 8, 91

3. AflB LYiltk

1) j2, 4, 6, 81 2) 11, 3, 5, 7, 91

3) @ 4) MX0Iqn

ilmlnr  de $8 2)

6Wj?%l  AnB 50 WhhJ~%J0ti’b&3  A  LLR’.  B

Qis& AC-IB  = 11,  3, 5, 7, 91
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5. (AflB)  U A dlfk

1) A 2)  B

3) A’ 4) B’

ilvlml be u's 1)

angera AnB = (1, 3, 5, 7, 91

(AnB)UA  =  {1,3,5,7,9)  =  A
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filml $0 &I 2)

awpa LvmAl
2K(x) = - Tx+;

WltQt&  K( - 1) = -$(-l)i$

= 2+5
3 6

1) -25 2) -5
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1 5 .  a*a bYil?T~l

1) a

3) c

d1mmJ  &I &I 4)

aPsPp7 l’~flBll’b14  a*a =  d

16. b*c  Uilfh

1) a

3) c

hmlJ as &I 4)

rpfb-‘jWC~  Pl~fEll~l9 bsc  =  d

1 7 .  c*d  bYilf%J

1) a

3) c

anqwa  mnm919  c*d  = b

2) b

4) d

2)  b

4) d

2) b

4) d

* C d e

c c d e

d d e c

e e c d
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18. (dtc)od Wiln”y

1) c 7-J  d

3) e 4) ‘baGu”a2qn
d1m¶J  le 36 2)

qwa dnc  = d

(d*c)od  = dad = d
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22. hwwm40mni-3  iox  i 18+4x &I

1) x > 3 2 )  x> - 3

3 )  -3<x<o 4) x < 3

dlB189J  &J $0 4)

mgsra 9in 10x  < 18+4x

6x < 18

x<3

23. il@lQYlIQ9Qk-fUnl~  2 < 5 -3x < 11 %I

2)3<x<  y

3 )  -2<x<l 4 )  -1<x<2

fhwm ib &I 9)

1PlqWl  1'l?l  2<5-3x<11

WlfJt-l~l%J+l

(1) 5 - 3 x  <  1 1

- 3 x < 6

x > - 2

LLiRt  (2) 5 - 3 x  >  2

- 3 x > - 3

x<l

mlAlmJ  Wa  ( 1 )  n ( 2 )  =  - 2  < x  < 1
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24. h@?QUVQJQWll~ 12x-51 i 1 ii0

1) -3 < x < -2

3 )  ;<x<2

d1mIl  de $8 2 )

lW’)Wl  12x-51  < 1 M%.l’l&9

(1) 2 x - 5  <  1

2x < 6

x<3

LLRr (2) -(2x-5) < 1

2 x - 5 > - 1

2x > 4

x>2

2) 2 < x < 3

4)-;<x<-3

fhwQmQ9Qmmi-s 60 (1)  n (2)  = [x12  4 x < 3)

25. WJ7Whl&dlUgR  (2, 3) LttX~Gl  (4, 5) 30

1 )  y - x - l  =  0 2 )  y - x - 9  =  0

3 )  y + x - 1  =  0 4 )  y + x - 9  =  0

hwm %I u’e 1 )

mqeta bclu7~~Rsnl%~l~~n~~~Q~~~~~~~~~l~~~~Q~~~

(x,9  YJ ufi: (XL?,  Yz) &I

Y-Y1 = m(x-x,)

z y2-yI  (x-x,)
x2-x1

unuciqvn y - 3  = s (x-2)

y - x - l  = 0

26. nunl~t~UolrJ8Jij"~l~~Ut~U  - ; ttR@hJUttnU Y tn'ln'y 4 i?Q

1 )  Zy+x-4 =  0 2 )  y  =  $x-4

3 )  2y+x28 =  0 4 )  2y-x+8 =  0



dlmnJ t% u's 3)

6wp-m  yGkwuunpd  Y &I  (0,  4)

9ingm Y-Y1 = m(x-x,)

Um&fil~~a y - 4  = - g-0)

x+2y-8 =  0

1) 2)

3) 4)

dmeu  i%l  &l 3 )

3
3) I I- 4

2) 13  -41

4). [II
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R1mnr  we  &I 1
3

mgua  [l -21
(1

= [3 -41 = [-l]
2.

4

30. eragnr~s4i7m.wfb7~  [3 2 -21 fhm3ni [I 0 Wa

1

1) [I2 0 2) 2) j12 0 -21

3) [lo 0 o] 4) [lOI

&weu ds u'e 4)

aPo6ym  II 4

[3 2 -21 0 =  [12+0-21 =  IlO]

1

1) AB = BA 2) AB = A+B

3 )  A B  =  - B A 4) AB = A2+B2

d1mau t%l 40 9)

-3 2
= i I-2 3

- B A  =

32. ?-ilWMltWll~ 2x- 3y = - 1

x+4y = 5
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x =
2 -3 =

__  =

I I

-4+15 ’
8+3

1 4

I 2 1 -1 5 I
Y = = ‘CL’ = ’

8+3

3 3 .  fhy\umwn75 3x+3y+2z  = 0

X =

Y =

3 0 2

I 0 1

5 o-1

3 3 2

:-1 1

5 2  - 1

= 0
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3 4 .  +mM  A  = imi%GwnCu~1ros  A &I

4 1
1) [ 1 2)

- 3 1

4 - 1

3) 4) i - 3 1 1
&mu  3s u’e  4 )

qwa Lwmcil
a b

81 A = / 1 L&a
c d

4)
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dlmlnr &I u’e  3 )

6Psqwtl
5!3! 5!x3x2 1-=
7! 7x6x5! = i

38 .  WHlfilllQJ -A-
(II - 2)!

1) n2-n 2 )  J?-
n - 2

n - l
3 )  -

n - 2
4 )  -JL

n - l
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Awlm  zs  &I 1 )
I

wp bW7w-h __ =
(Z2)!

n(n-l)(n-2)!
(n - 2)!

= n(n-I)

rz n* - n
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42. 8JHl+‘il%aJ ‘“P 2

1) 45 2 ) 9 0

3 )  lo! 4) 8!

fhnml  i%l  &l  2 )

‘OP,  = 1;  = 10x9  = 90

7x6~5~4~3=
2
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:. P(E) = E =
I
4
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41. iJJH1 ?‘y 2x - 2

1)  1

3) 0

hlsu  Be %I  2)

qera  pyzx-2 = 2(2)-2

= 2

48. 'ilJH1 lir~ j!&

1) $

3) ;

fh618¶l  &I u’e  4 )

l-1=-
Jia

2

2) 2

4) 6

2) f

4) 2

4 9 .  XJJYLI hm x - 3
x-3 G-x-6

1)  ; 2)  0

3) ; 4) ;

dlmJ¶J  de u’s 3 )

lMgWl l i m x - 3 6 - 3)
y-3 x2-x-6 = ?‘-T  (x-3) (x+2)

= lim -L
X~.3 x + 2

1=
s

2 - x50 .  PJWI l im -
x-z 2x+1

2) 0

4) $3) 4
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51. 99Hl lim
x*-3x+1

x+w 3x2+x-I

,I)  3 2)  w

3) ; 4) -3

filwml tie =&I 3)

3) ;x 4) -!-
2fi

FhmJ Wa u's 4)
!

anqssa  mn y = 1+& = 1+x2
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54. 61 y = ax*+ b (a, b b?.hURll.5hUX4) L& $ tw'l?%J

1) 2x 2) ax+b
3) 2ax 4) b

i1me¶J de CB 3)

mgem Y = ax’+b

e dy
z = a&(x’)  + k(b)

= 2ax

dy
iii = ;yl)

= - 1 (x-2)
zz -x -2

56. 61 y = 3x"'- 4x"'+2  tt~~ dy thfk
d x

,) 3x "2 - 4x-"' 2) 6~"~  - 12x"'

3) xl/z - x1'3



2 2 0

hmJ i%l &I 4 )

dmpa  3in Y = 3~“‘-4x”‘+2

dY
dx

= 3d(X1/2)-4d(X1/Z)+d(2)
d x d x d x

= -j. l,f-’ -4.L,f-I+()
2 3

= ix-i-  ‘Q
2 3

3) 3x+c

hlelJ ds u"a 1)

2 )  $x+c

4) 2x+c

mya

58. PJHI ]x”jdx

1) x4’3+c 2 )  ;x4j3+c

3 4/3+c3 )  4x 4) P3+c

5 9 .  B.wll \’ (x+2)‘dx
.)i=  ~I

124
2) 3

4) 4
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fhnl %I 48 2)

mgeta

sI= .,
(x+2)‘dx  = s:; .,

(x2  + 4x + 4)dx

x3 x2 3=
3
+4y+4x -I

= (;+2.3'+4.3) - (‘2’ c7(-1)2t4(-I))

= (7+18+12)  - (-f+2-4)

= j2 (2-2d2;+xx)dx
” 0

$” x2 2
= 2x-2$2  __

I +1
+z 0

z

= ,4-2ii(#  +;} - IO-O+Ol

-


